Max Load: 50 Kgs

Part List:

177~450mm

% F.M8x12pcs

I E‘I \ @ U.16pcs

M8
o H.M8x6pcs
A P.2pcs Q.2pcs  R.4pcs  S.4pcs M8@10V. 16pcs
8 [.M8x4pcs . & X
& M.
@ J. M8X2pCS N uxi6 8pcs \ M6x20 6pcs % M8x20 Bpes
D.1 pc/each N s 8pcs \
W 15x16 8pcs \ M6x40 6pcs » M8x40 6pcs
~
M5%25 8pcs M6x55 6pcs \ VB85 6pcs

L. 2pcs N. Washers 0. Spacers
@ M5x8pcs @ 1/4"x6pcs @ 12pcs

B63kB900—01 1/2 2014/08/28




Y, %

Pressing
to pull
out
inner
tube.

Adjust
height. .. if
necessary

[

Add spacers
1f necessary

Lock the
Screws

, but not
to fasten

1f necessary

Add spacers °©

P

B63KBY00=01 2/2 2014/08/28

|

Fasten the
Screws

O
—®




796

=13

1300~1800 mm
par 100 mm

oLz

618

0
oy

e —”
863k-00 EUH-’[JE‘ﬁB ﬂ ﬂ

For Dimensions listed in Red (If optional shelf is purchased
these are the different heights the shelf can be placed at:

&::I
@,

The lowest height is 388mm = 15.28in.
The middle height is 618mm = 24.33in.
The highest height is 848mm = 33.39in.



	MBTVKD
	Heights



